A TG4
AT 1 & B 8400
* il AL TR
2k & 5 % 20240060119 =
™ #= % A4 FERIS T 1 B Fb  EtEdnk T
AT (N 55 A AR Z2FET B - Pa Ak o HIN
Py it Td . [ 1 LX) WRiKEM 158 (331640) . HMATERTIK 2 54 (33034)

L F %5 8 =% [2 TK] KA S ZH (34801) 7

[1 TK] MEiL#EE L=42.8m IEE W=1.8~3.8m

AR T FJE8 (FFAEBRIEEAS20F, t=5cm) A=132.6m2., /&K ORI FHM-AM-40, t=10cm) A=136.9m

2

[2 TK] MiL#EE L=16.2m IEE W=3.2~3.3m

AR T EJE (FFAEBRIEEAS20F, t=bcm) A=52.2m2, &M kil AM-40, t=10cm) A=52.2m

2. HEKABMZRTT HEOEHE 2K
U ¥k F84 B AFL
2 # S T4HE 1A 2T H
i T SF THE 1A 28 H
ZR (L AT - 5240) S T4 3 A 2T H
2K & # ¥2, 902, 900

(9 BEGNZ DD IEE B UL TEE Bl O %A ¥263, 900H9)
a— KN 1000001000

=% E# | FE T BT LETEAR - TH3IEMS Z L RV RALfERrEA 201
FEir - K4 K 4 St EEa

(et = R )




A F64

BoAT Al 3F
P
4

i

RARVGH Hb R T

AL BT RABTROC 4 HIN

A iR THE . [1 TR] KNl 58041390 [2 TK] E)mER (20103)
L F % 8 = [Zfﬂg] Wi TR L:208.(;n MEE W= 2.3~2.Tn e
LT # 8 (FFAEE R FEAS20F, t=5cm) A = 532. 1nf
b A% (M-40, t=10cm) A = 491.3nf
[2TK] MTiEE L=231In HEE W=17~1.9n
EXKET N = 1K
U ¥k F84 B AFL
2 # S T4HE 1A 2T H
i T SF THE 1A 28 H
ZR (L AT - 5240) S T4 3 A 2T H
K & FE ¥5, 567, 1004
(9 BEGNZ DD IEE B UL TEE Bl O %A ¥506, 1009)
a— KN 1000000784
= E F Fr BRILTHEENTZ BT ES 8 2 &M
FEr - K4 K 4 ARSHEERERE AR

RERRe B R —




A6
w17 A F OB 8444
£ i AL T E
n KN F = % 2024006149 =
Tr =H % 4 KRR B ZE M AREmE T EF
B AT (AN ) S AT AR TH7E AT AR HipN
T == % M = HisEHiE TH 1=50. 0m
o8 5 ik a4 54 AAL
2 ) ASFn T 1 H 2T H
a5 + A T4HE 1A 28 H
2R (Lw AT+ 529) ASF 744 3 H 27 H
2K 4 ¥2,699, 400/
(9 BEFNZ DL B O 5 T E Bl O %8 ¥245, 400[1)
a— K 1000000195

% @ FH | MFE P BMUmHEIT EATEE S 0 1%
Ear - K4 K 4 #BAStESH

RELHGE  Eir ZFFH]




